
Feb Olympiad Grade 2 Logical Reasoning

Choose the correct matching pair. Car : Road : : ? : Water

A. Train B. Boat

C. Aeroplane D. Cycle

If bottles G and M interchanges their positions, then which bottle will be third from the left end ?

A. O B. L

C. M D. S

Question: 1 of 35 Marks: 1QID: 20003

Question: 2 of 35 QID: 20007
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Select the odd one out, which does not match the other three option.

A. a B. b

C. c D. d

Which letter is fourth to the left of the fourth letter from the right end ?

A. A B. T

C. O D. L

Question: 3 of 35 Marks: 1QID: 19998

Question: 4 of 35 QID: 20006
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The position of the ice-cream in the circle is ____ ?

A. 3rd from the left end B. 4th from the left end

C. 4th from the right end D. In the centre

In how many different ways can Buzzo reach to the bone ?

A. 5 B. 4

C. 3 D. 6

Question: 5 of 35 QID: 20005

Question: 6 of 35 Marks: 1QID: 19984
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Select the odd one out.

A. a B. b

C. c D. d

If PEN = TABLE, TABLE = FAN,FAN = CHAIR, CHAIR = ROOF, then which of the following will a person sit ?

A. FAN B. CHAIR

C. ROOF D. TABLE

Find the missing number in the given number pattern.

Question: 7 of 35 Marks: 1QID: 19994

Question: 8 of 35 QID: 20011

Question: 9 of 35 Marks: 1QID: 19979
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A. 32 B. 24

C. 85 D. 15

How many groups of 5 butterflies can be formed ?

A. 3 B. 2

C. 1 D. 7

Question: 10 of 35 QID: 20009
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Rony started from London at 11 O' clock and reached Amsterdam after 4 hours. At what time did he reach there ?

A. a B. b

C. c D. d

Christmas is a holiday in which religion?

A. Islam B. Christianity

C. Judaism D. Buddhism

Question: 11 of 35 Marks: 1QID: 19985

Question: 12 of 35 QID: 20004
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How many groups of 2's can be formed ?

A. 12 B. 8

C. 4 D. 10

Question: 13 of 35 QID: 20010
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Identify the relationship and find the missing figure.

A. a B. b

C. c D. d

Question: 14 of 35 Marks: 1QID: 19996
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Select the odd one out.

A. a B. b

C. c D. d

Certain logic has been applied in the given pattern, identify the missing number ?

A. 114 B. 90

C. 85 D. 105

Question: 15 of 35 Marks: 1QID: 19991

Question: 16 of 35 Marks: 1QID: 19981
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What shape will you get if you trace around a Geometry box?

A. Circle B. Cube

C. Triangle D. Rectangle

Prat is heavier than Sam. Natalie is lighter than Randy. Sam is heavier than Randy. Who is the heaviest ?

A. Prat B. Sam

C. Natalie D. Randy

Which numbers will come next ? 3, 6, 9, 12, ____, ____, ____

A. 14, 16, 18 B. 16, 20, 24

C. 13, 14, 15 D. 15, 18, 21

Observe the pattern and find the next figure.

Question: 17 of 35 Marks: 1QID: 19988

Question: 18 of 35 Marks: 1QID: 19983

Question: 19 of 35 Marks: 1QID: 19982

Question: 20 of 35 Marks: 1QID: 19980
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A. a B. b

C. c D. d

Select the odd one out, which does not match the other three option.

A. Sofa B. Toilet seat

C. Bench D. Chair

Question: 21 of 35 Marks: 1QID: 19997
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Select the lightest box.

A. P B. Q

C. R D. S

Question: 22 of 35 Marks: 1QID: 19986
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Ankit has a ________ (shape) in his hand.

A. Circle B. Cube

C. Triangle D. Rhombus

If FIVE = 3256 and TEN = 468 then find TIE = ?

A. 462 B. 426

C. 482 D. 428

Select the odd one out, which does not match the other three option.

A. tUt B. pQp

C. QrQ D. mNm

Select the odd one out.

A. AAB B. EFF

C. CCD D. BBC

Question: 23 of 35 Marks: 1QID: 19989

Question: 24 of 35 QID: 20013

Question: 25 of 35 Marks: 1QID: 19999

Question: 26 of 35 Marks: 1QID: 19992
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Identify in which of the following figures, (M) is embedded or hidden ?

A. a B. b

C. c D. d

If RAN= SBO and CAT = DBU then find RAT = ?

A. SBU B. SOB

C. SUB D. SBO

Question: 27 of 35 QID: 20008

Question: 28 of 35 QID: 20012
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How many traingles and circles are there in the give figure?

A. 2,21 B. 17,21

C. 15,22 D. 12,19

Identify the relationship and find the missing figure.

A. Black B. Green

C. Purple D. yellow

Choose the correct matching pair. 
9 : 18 :: ? : 14

A. 25 B. 21

C. 7 D. 16

Question: 29 of 35 Marks: 1QID: 19987

Question: 30 of 35 Marks: 1QID: 19995

Question: 31 of 35 Marks: 1QID: 20002
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Select the odd one out.

A. stapler B. fan

C. eraser D. pencil

What is the total number of geometrical shapes which are used by Khushi and Ankit ?

A. 7 B. 9

C. 8 D. 6

Choose the correct matching pair. apple : fruit : : radish : ?

A. vegetables B. fruit

C. Both D. none of the above

Select the odd one out, which does not match the other three option.

A. 321 – 123 B. 678 – 867

C. 789 – 987 D. 456 – 654

Question: 32 of 35 Marks: 1QID: 19993

Question: 33 of 35 Marks: 1QID: 19990

Question: 34 of 35 Marks: 1QID: 20001

Question: 35 of 35 Marks: 1QID: 20000
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--- END OF QUESTION PAPER ---
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